FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2024

Tme 2 Hours
Part - II1 Cool-off tme : 15 Minutes

MATHEMATICS (COMMERCE)

Maximum 60 scores

/ General Instructions o Candidates : \
¢ Theresa’Cool-offtime’ of 15 mmutes in addition to the wrting time

Use the ‘ Cool-off time’ to get famihar with questions and to plan your answers

Read questions carefully before answermg

Read the mstructions carefully

Calculations, figures and graphs should be shown m the answer sheet itself

Malayalam version of the questions 1s also provided

Grve equations wherever necessary

Electronic devices except non-programmab le calculators are not allowed 1n the
Exammation Hall
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Answer any 6 questions from 1 to 8. Each carries 3 scores. 6x3=18)

1 () AnA'=___ 1
(@ A ® A
© U @ @

() IfA={24 6 8)andB={(2, 3,5, 7)then find (AUB)and (AN B) 2

()

(1) Is the relation R = {(2, 4), , 8), (3, 6), (5, 10)} be a function ? Jushfy your

answer 2

(1) The range of the constant function f{(x) =k 1s 1

3  Solve _x3—1 < 3x1+1 Represent the solution on number lne

4 What 15 the total number of words formed usmg all the letters of the word ' VIRAT' in

which all vowels come together ?

S Fmd the centre and radws of the crcle x* +y* - dx + 4y + 7= 0

6 @ lm11x3+x3+x+l= 1
X -
Find lim S
2
() Fmn rl_r.nl S0
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1 monsd 8 cuonwian aaxmyenglold agoomlene 6 agEREPIN QOUK OGOV .

3 aad alto.. 6x3=18)

I () ANnA = | 1
(@ A ®) A
© U @ @

() A={2 46 8}poB =23 5,7} 0o awwixd (AVB) ww (AN B) wp

@ e llsl ooy, 2

2 @M R={C 9 C 8 G 6, 6 10} apan dAepiaud 60} af @33 axs)10n0 ?

TR OB MPW B0 ) . 2
(1) {x) =k apam a0 qua acaiauang aoemi ag)anay @y aM). 1
. 2x-1 _ 3x+1
3 S 6@ ARl SIEMES: DENENIONG TUoUI G QDK & 267Tkoe ).
3 2

4 'VIRAT' ag)am ansslsel alaimday «f)glos aoda) aioomes alwosiiod «ge

BREM DI Jo RUBN|SIIT AYED: G T AUION)HUD PENBIGAI ?

5 x?+yl—4x+4y+7=0ahmmalomoniang aoxmaiaae, @ymalle @Iem.

6 () Im xXP+x’+x+1= . 1
x =1
| - x100_
(1) Ilinl 01 @ AUl 219,06, . 2

FY-451 3 P.T.O.



7 Q) d—i(lanx)= 1

(1) % (sinx- cosx) = 2

8  Consider the following data
47,89 11 13, 17, 19

Fmnd mean deviation about 11 of the gven data.

Answer any 6 questions from 9 to 16. Each carries 4 scores. 6x4=249

9 LetU={1,23,4,56,7,8,9 10} beunmwersal set
A={1,2579},B={1,387}

Fmd the followmg

() A'andB' 1
(W) A-B 1
(u) Venfythat (AnB) =A'UB! 2
10. (1) Draw the graph of the function f(x) =|x| + 1. 2
(1) Write domamn and range of above function 2
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7 ) %(tanx)= 1

(1) % (smx cosx)= 2

8 06w ®aAdlen)an A Q astknaTilos x :

4,7,89 11,13 17,19

g0 awoganes 11 @8 aflamaes A avhlaaum® @ e lslon)s.

9 a3 16 00w 0R 01193 ENal o8 sgaamlec 6 af)p Ol o) D GO SR D),
4 aapod aflow. (6x4=24)

9 U={1,23,4567,8 9 10} opdcudmund erug

A={1,2579},B={(1323817}

(@0 6 Al QAN afy$ XM :

(D A'@B'eo 1
(n) A-B 1
() (ANB)=A"'"UB' @p@smo af)am’ al®lGuodwko . 2
10. () ) =[x]+ 1D aredauend el AIGoe ). 2
1) 2@l 6253l AN AL AZHEXY HAUINAW W GOGRI G nf)#3 ). 2
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11. () Write the value of tan%

(n) Which among the followmg 1s equal to sm (135°) ?

1 2
(@ TE ®) ﬁ
© - @ -+
(m) s 8% - s & =tanx

COS8X + CcOs6X

12, Letz=(=2+31)+(4 -5, then

() Expresszina+ b formand then write conjugate of z

(i) Find >and write in a + ib form
Z

13. () Thevalueof™Cjs

(@ 0 ® 1
( n @ -
() A team of 3 students 1s to be formed from a group of 2 boys and 3 girls of a

school In how many ways this can be done ? In how many of these commuttees

consists of one boy and 2 girls ?

14. (1) Number of terms in the expansion of (1 =x)*1s
() The sum of the indices of a and b m each term of the bmomual expansion of

(a+b)"is

4
2
(i) Expand [;4—%] usmg Binormual theorem
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1. (1) tm-’-;- 6xg afl el ag) o). 1

(1) oo a5 mRle M sin (135°) 86" e ®Y AR®Y ? 1
1 2
(2) ()
V2 2
3 4
© (d)
.., Sn8x-snéx v
() =tan x ag)am exogai oo ) . 2

COSBX + cos6X

12, z=(=2+ 3D+ (4 - 5) aricl 066

D zeoma+ b afan opIcINod af)s )@, Z 60 a:dFEREN Q ag)§ D). 2
() l.ﬁ,m'mncuﬂm a + 1b @I OB nG)$ )0 2
z
13 () "Chpamesafles (T JAN). 1
(@ 0 ®) 1
(© n @ -1

(W oo 2 cymdeglagp 3 onmioglegl 9uen|s|an ao) Wifled alanp 3
GIDSETAN  a0) Gl onfledlessm. omeoticd e @i
opnflnclondd s aegee’ ? monwonicd oen mdacd o)
AR F0)o 2 Onlade: 5lo.@le RUBOMIS nGD & 28ck08 D MRIG: s 7 3

4. () (1 =-x)"egaflapehe.omoniiod 9as ~16anges oI aildees. 1
) (a+b)" e alanefecenaaitd $oao alAREOHLKD 2 WESW]e b )OS o

@\ OR Q165 O ANl OD)o. 1

4
2

(1) oeeueMIA®3 600 @alcasila) [1 + %] g aflas)efls:oamo nf) ¥ 1), 2
X 2
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15. Fmd co-ordinates of focs, the vertices, length of latus rectum, length of major axis of

16.

17

18

. ] a ]

the ellipse LI A
9 4

() Which of the followmg pomts lies on XY -plane ?
(@ @O1LD ®) 1,01

© (1,-1.0 @ 1,0-D

() LetP(-2 3 9),QQ, 2 3), R({, 0 ~1) are three pomts n space

(a) FindPQ, QPand PR

() Check whether the pomts are collinear

Answer any 3 questions from 17 to 20. Each carries 6 scores.

(1 ThenMtenn ofa sequence 1sa_ = ni_n;j)

-

Write 6 term

() Find 10®temoftheGP 1,3, 9,

(1) Find sumofthe sequence 6, 66, 666, . tonterms

() y=3i1salnepanllelto
() x=y ® x=0

(¢) x=3 d y=0

(3x6=18)

(W) A hne [, through the pomts (-2, 6) and (4, 8) 1s perpendicular to the lne /,

through the pomts (8, 12) and (x, 24) Fmnd the values of x

() Find the distance ofthe pomt (3, -3) from the line 3x -4y - 26 =0
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15.

16.

17.

18.

¥ 3

% - l’} =1 ag)aM af)EdaiMiN] anco00MUM:UR, rudgoneud, Engmy ane.gorliend

afigo, aned @aglad o) afigs agyariu @26m)d,.

() oo aeos)Tickee ) mailed XY -plane @d pag enllng) ago ? 1
@ O1L) ® (1,01
© 0,-1,0) @ @,0-1

() P(=2,3,5),Q(,2, 3),R{7, 0, 1) aavil enflaneeud al@kn enios .
(@ PQ, QP, PR afariicu &:06m)é 2
b))  nimeeud andeoaren e af)an’ aldlauodwkos k. 1

17 o 20 awoo@s caunpmgled sgeosle 3 aggposic

QOO OAY BNt 6 aapad allor. Bx6=18)
N e _nn+1) 6 )
() &) aaAelee n-deoalt 3, = s AWIVS 600 al Bo af) $ 10N,
) 1,39 .......opm v emi® guaerila@)es 10-00 alds @36mie. 1
(i) 6, 66,666, . oM GUINAWIAS N AIATRZES O &K 4
D  y=3apan avay a’ LRI DA, 1
(@ x=y ®) x=0
© x=3 @ y=0

) (2, 6), @, 8 o) min3peedled @8] HSaN) GalXe: 10N SO il (& 12,
x, 24) sl mAaneegdENns &SN Galdd: 1N AORID] o6 [, M ElosmImoe),
af)ekod x oxg aflel &em)e.. 3
() (3, =3) apm enilmy 3x = 4y = 26 = 0 ag) coarktd MM ag® @R LIoTIeDem
A &eelnlislon)e. 2
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19.  Calculate mean, variance and standard deviation of the follow ing data

Class 0-10 | 10-20 | 20-30 | 3040 | 40-50

aa
O

13 15

wun

Frequency

20. (1) IfE and F are two events associated with the same random experment such that

] ; l
PE)==,PF) == F)=—
(E) 7 ) ?.P(Eﬁ, -

Find a) PEoF)

®» PhotEandnotF)

() A commuttee of 3 persons 1s selected fom a group of 3 men and 3 women. What

15 the probability of that the commuttee will have 3 men ?
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19 anues a0 mRlckea)an  avogaes MWWl  eurlday,  quadeavdal
AUl a ag) AT HEATNOO N0 )05

Q:}mi' 0-10 | 10-20 | 20-30 | 3040 | 40-50

YUY N 3 9 18 15 5

20 () E @) Fooan) 00 gy onicloandiaom] enumuenig o gxniadiewd arsm.

P(E)=%,P(F)=_}E,P(E('\F)=% AW DI IO IATX 2611 ).

(@ PKEaF)
b)) PhotEandnatF).

() 3 @legp 3 anoemBaon). pudens ao) Wafled alans 3 aaes &) & oad
opnflaclocommeaee. 3 anopu@aod Pl @omgl QMBIGMSR
Qasoeueniedd @oene ?
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